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1 This booklet contains 50 questions to be answered un a separate OMR Answer Sheet usng Black Ball Pen in following three parts 

Read the following instructions carefully before you 
begin to answer the questions 

All Questions are compulsory 

INSTRUCTIONS TO CANDIDATES 

Part-A-Plant Breeding and Genetics : 20 questions. Part-B- Soid Scicnce and Agricultural Chem istry : 20 questions, Part-C- Agricultural and Microbiology : 10 questions 

Evample 

You will be supplcd the Aswer sheet separately by the mvigalato You must complete the detals of particulars asked for 
4 Answers must be shown by completely blackening the corresponding circies in the Answer Sheet agamst the relevant question number by Black Ball Pen OMR Answer Sheet without markng sernes/ double senes markang shall not be ev alusted 

Supposing the following question ss sied 
The Capital of Megtalaya is 
A Guwahati 
B Kohuma 

Marks: 100 
Time | hour 

C Shillone 
D Deliu 

You wl have four aiternatives Itatives in the Answer Sheet tor your responsc corespondng to eacin quesuon of the Question Booklet s 4s below 

In te aboveillustration, if vour chosen response is ltematrve C1e Shillong, then the sume should be maked on the Answer Sheet by blackening the relevant cucle wth a Black Ball Pont Pen only as below 

WIIICHIS THE ONLY CORRECTMETHODOFANSWERING 

There wil NOT be any negative marking for wrong answers 

Answer the questions as quickly and as carefully as you can Some questions nay be ditficult and others casy Do not spend too much time on any one question. 

The Anser Shect iust be laided over to the invigilator befoe you leave thc Lxnination ! 
g No rouch work is to be done on the Answer Stieet Space tor rough work has been provjded in the question booklet 
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Each question carries two marks : 

CO 

1. Cross pollinaton in maZe 15 mainly on ac of wlich of tbe folowiug ? ioecism c) Prolo Protogyy 
a) Din 

a) 
election 

2, Wlich onc of the folowing breedang mcthods 

b) Buck cm 

is most appropriate for dyvelopmcnt of disease resistant Masicties 

TOSS method c) Recurred selection 
d) Bulk metbod 

b) Random matino in ine 
c) Sclfing in isolation d) Top crossing 

3. A cultivar developcd througl1 population im provement app approach can be maintainçd with propcr identity through 
a) Pure le seleet 

c) Glycogen 

4. Mostly plant cell wall is made up of? a) Ccllulose 

a) Watson and Crick 
b) Armon and Stront 

b) Monoccisn 

PART:A; Pant Breding and Genetics 

d) Sdf-compatib1lity 

c) Johnson and Dawin 

a) Irradiatton 

n isolatjon 

5. Who gave the douhle hclix model of DNA 7 

d) Fkming and Leibing 

c) Ethvlne 
d) Colchicine 

b) Mutagenc chernicals 

7. Heterosis is 

6. Polsploidy is unducod through ? 

PAPER-I1 

} Sucrose 

c)lHsbridization 

Pect1n 

MAS(P-1) 

a) Appcarance ef spontancous mutation 
b) Induction of mutation 
c) MIxture of 2 or more traits 
d) Superiority of hybrids ovct thcir parcnts 

8. The quickest mcthodof piant btcding is ? 
a) Introduction b) Selection 

9. Pure line brccd refers to ? 

a) Heteroz gosity only 
b) Homozy gosity anly 
c) Homozygosity and self-assortment 
d) Heterozygosity and linkage 

10. Paddy inflorescence is ? 
a) Ear 

) Mutation brcoding X 

c) Arrow 

I1. "Power house of cell 
a) Lysome 
o) Nuclcus 

) Epistasis 

12. Phenomenon where a single gene has more 
than one phenotyphice cfect is kn 
a) Tiypostasis 

.a) Homozygosity 
c) Poivpiosdy 

D) Spikelt 
d) Panncle 

13, In brcod.ng in cross pollinated erops incrcase due to ? 

formancs of 
u) lubred le 
o) Pure line 

b) Ribosome 
d) Mitochondria 

b) Pleiotropism 

14.A top cross tzst 1s done to evaluate tlhe per 

d) Duplicate gene 

c) Tetrazolium test 

b) Herterozy gosity 
I) Population n mcan 

15. In whch of the following secd stotage con ditions, thc longevityof the scods would bc maxt 
omal ambicnt stoage 

b) Most 

b) Single erass hy brid 
d) Double eross hy brd 

c) Dhunadaficd with low temperaturc (5-8C) storage 

a) Gibbereln 
c)(ytokinin 

ds Dehummaificd storage only 

16. The seud dormancy can be detccted by ? /aiVieour test 

getmnation of sccd ? 

17. The hormsone needed for cell division during 

b) Germunation test 
d) Purity test 

b) AbsciS1C ac1d 

d) Ethylin 

18. Somatic hy bridization is achieved through 
a) Grafting 

osture proof stornpe 
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b) Conjugation 
c) Protoplast fuslhion 
d) Recombinant DNA tchnology 

19. In the process of plant brceding. bagging is 
donc to? 

a) Avoid cross pollination 
b) Avoid self-pollination 

c) Achieve desired pollination 
d) Prevent contamination from foreign pollen 

20, When both the alleles of a gene are full 

expressed in a heterozygote, what is this phe 
nomenon called ? 

a) Complete dominance 
b) Over dominance 
c) Co domnnce 
d) Pscudo 
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Each question carries two marks : 

21. Flow of nitrogen in soil manly duc to a) Mass flow 
c) Interccption 

tion of soil 
a) Soil order 

c) Soil serics 

22. Which one is lower category for class1fica 

a) Kaol1nite 
c) Vermiculite 

a) Bray 
c) Walkley and Black 

23. Which clay mincral is responsible for crack ing in black soil ? 

c) 25-309% 

c) 7% 

24. Which method uscd for determination of availabBe phosphorus in acid soil ? 

pH is? 
a) Zinc 
c) Iron 

25. The percentage of clay in sandy loam is 
a) 20-30% 

a) K 
c) K 

Soil Science and Agricultural Chemistry 

b) Diffusion 

a) Nitrogen 

d) None of the above 

26. Nitrogen content in vermicompost " 
a) 3% 

c) Magnesium 

30, Hue denotes 

b) Fam1ly 

a) Dominant spectrum 

d) None of the above 

27. Micro element available in soil with alkaline 

c) Purity 

b) Ilite 

d) Intensity 

d) Montmonillonite 

MAS(P-I) 

b) Olsen 
d) Jackson 

28. Potassium is absorbed by plants in ionic 
form a_ ? 

b) 40-60% 
d) 0-20% 

b) 5°% 
d) 10% 

29. Which nutrient deficicncy in piant cause 
growth stunt and pale-vellow colour of leaf 

PART-B 

b) Copper 
d) Molvbdenum 

b) Lightness or brnghtness 

b) K 
d) K,0 

b) Phosphorus 
d) Potassium 

3 

31, Which fertilizer produce acidity in soil7 

a) Ammonium Sulfate 
b) Sodium nitrate 
c) Calcium amnonum nitrate 

d) Calcum nitrate 

32. Rock phosphatc has P.0, 9 
a) 10-20% 
c) 30-50o 

33. The conversion factor for calculating P from 
P,0, ? 
a) P.0, x 2 29 

c) Px2.29 

34 

c) Flocculation 

. Soil colloidal particle shows the plhenomena? 
a) Plasticity 

d) All of the above 

b) Adhesion and cohesion 

eral? 

a) Kaolin1te 

35. HvdrOgen bond found in wuch clay min 

c) Vermicuite 

c) Hvdration 

a) Physical 

36. Denitrification is a process of 
a) Oxidation 

c) Biological 

b) 20-40% 
d) 20-30% 

to 

37. Ammonia volatilization is purcly proeess of 

a) KCI 

b) Px0.44 

c) Impurities 

d) P.0, 0.44 

a) Black soil 
c)Alluvial soil 

38, Reddish colour in muriate of potash is due 

b) Montmorillonite 
d) Beidelite 

a) Sandy soil 
c) Loamy soil 

b) Reduction 
d) Carbonstion 

b) Chemical 
d) None of the above 

39. Bedrock is abscnt in wlich soil ? 

b) Colour reagent 
d) All of the above 

b) Red soil 

40. Whiclh soi! occur manly a soil crast prob 
lem 

d) Forest soil 

b) Silty clay loam 
d) Claycy soil 
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Ench question carries two muks : 

mycete ? 
a) Acctobucter 

41. Which of the follow1ng is a N, fixng actino 

c) Frankia 

C) E Coli 

42. Namne of bactcria produciny cndospore is 
a) Bacillus 

tion 9 

a) Cohesion theory 

43, Which of the following is a corrcct associa 

b) Mass flow 
c) Malatc hypothesis 

a) Polvsome : group of golgi complex 
b) Ribos KibOsome clectron transport chain 

Lysosome; digestive cnzyme for intraccllular 

d) Mitochondria transport nmaterials fron the 
nucleus to the cytoplasm elue to abe 

44. Whch onc esplains ascent of sap ? 

b) Azotobacter 

a) Xvlem vessel system 

d) Azospirillum 

d) Interfacial low hvpothesis 

b) Sieve cells of phloenm 

Aericultural and Microhiolegy 

b) Agrobacterium 

ranslocatcd in angiosperms is 

d Xanthomonas 

45. The principal pathways of which water is 

a) Azosp1rillum 

c) Xylem and Phlecm together 

c) Azotobacter 

d) Sicve tube nceis of piicm 

c)E coli 

PART-C 

46, All are free living nitrogen fixers except 

c) Sugarcane 

MASP-1) 

b) Clostridum 

47. Among the following which is considered as 
the best ind1cator of water polution 
a) Bacillus 

d) Bacillus polymy xin 

b) Clostridum 

d) Paramecium 

48. Rhizobium has symbiotic assoc1ation with ? 
~a) Legumes b) Non legume crops 

d) Paddy 

49. Azolla is widely used as nitrogcn fixer in 
va) Paddy fields b) Corn fields 

c) Wheat fields 

s0. Microbcs that soubilise fixca soil phosnb 
rus arc called ? 

d) All of the above 

) Phosphorus fixers 
b)Phosplorus solubilisng mucroorganisn (PSL c) Phosplhorus solubil1sers 

d) none of the above 
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